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(€) Show tha les than 25% of the potaios have a weight greater than 65 2.





image8.png
7 There are 10 boys and 20 giels in a class
The sl has a0t

The mesn mark ol the class i 60
The mean mark o he g s 4

Work out the mesn mark o the boys.

(Toatfor Question 713 marks)
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(@) Find the median dress size.

3 of the 25 women have a shoe size of 7

ey sty st o s e 5w, e iy s e
iers e sl s o 14 e

Rl
Ble

X
5

() Is Zoe comect?
You must give a reason for your answer.

(Total for Question 3 is 2 marks)
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13 Mr Brown givesbis clas 3 tst.
The 10 g i the clas gt & mean mark of 0%
The 15 boys in e clss gt  mem mark of $0%

ik says hat beceuse e mean ofT0 20 01 75 then e memn mark fr he ol
frstientenr

ik 5ot coma.
.
You st sty you ansver

(CTotal for Quesion 1312 mark)
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9 Walkden Rods is a basketball team.

Atthe nd of 11 games,thei mean score was 33 pints pr game.
At the nd of 10 games,teir mean score was 2 points higher.

Jordan says,

“Walkden Reds st Have scored 13 pois i thei 11 game™

s ondan right?
You must show how you get your answer,

(Totsl for Question 9 s 3 marks)
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13 There are 18 packets of sweets and 12 boes of sweets in 2 carton.-

The mesa mmber of et nal e 30 packes nd b s 14
The e mmber of st n th 15 packete £ 10

ok out e s mmber of st n e b,

(ot for Question 13is 3 marks)
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20 25 students n cass A &d  scence exam.
30 et i cas B s s s .

o s e fr e 25 s 3 st A 673
o ek fr o 55 sdens 720

Work o the e sk fr e s s B,

(ot for Queston 20 i 3 marks)
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13 Hentford Juniors i a basketball team.

At he nd o 10 games, e mean scoe i 35 pots per game.
¢ e of 1 gne, thes meanscrs s g dow 0 33 ot p g,

How many poits dd th team scoe inte 11k game?

(Total for Question 13 i 3 marks)
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6 Edhas 4 cards.
There is a number on each card.

12 6 15 ?

‘The mean of the 4 numbers on Ed’s cards is 10

Work out the number on the 4th card.

(Total for Question 6 is 3 marks)
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13 Bob asked each of 40 friends how many minuies they took o get to work..
The tble shows some informaton sbout s sl

Time taken (m minute) | Frequency
o<m<i0 3
W<men s
N<men u
N<mew 0
Wemes o

Workout an etmste o the mesn tme tken.

(Tota for Question 13 s 4 marks)
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A rugby team played six games.
‘The mean score for the six games is 14.5

‘The rugby team played one more game.
‘The mean score for all seven games is 16

Work out the number of points the team scored in the seventh game.

points.
(Total 2 marks)
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. Bisnca ssked 32 women sbout the number of chikdren they cach had.

The tble shows information about hr rsuls.

Number of children Frequency
o

o than 4

(@ Find the mode.

() Caleulate the mean.

(Total 4 marks)
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15, The il shrs s oo shost o Bght ) of 100 s
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(© Find e clas terval n hich he medin .
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(Total 5 marics)
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2 James is taking three examination papers in Spanish.
Here are his first two results.

Paper1: _43 Paper2: 38
80 65

Paper 3 is out of 95.
The marks in each of the three papers are added together.

Find the lowest mark that James needs in Paper 3 to achieve 60% of the total marks.
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7 There i a total of 45 boys and girls in a choir.

‘The mean age of the 18 boys is 16.2 years
‘The mean age of the 27 girls is 16.7 years.

Calculate the mean age of all 45 boys and girls.

(ot for Question 7 is 3 marks)
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17 The histogram ives information about the distances 50 competitors jumped i Jong
ump compecion.

120}

ot sn st frthe e e,

(Total for Question 17 is 4 marks)
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11 A bus company recorded the ages, in years, of the people on coach A and the people.
on cosch B.

Here are the ages of the 23 people on coach A.

R )
0 6 & 6 6 6 & @ T

(8) Complete the tble below to shov information sbout the ages of the people o coach A.

Median
Lower quartic
Upper quartle
Leastage 5
[e——

Here s some informtion sbout the ages of the people on coach B.

Median B
Lower quanie | 4
Upper quarile | 73
Leastage 2
[

Richard says that the people on coach A are younger than the people on coach B.

(®) s Richard correct?
Vou must give a reason for your nswer:
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Richard says that the people on coach A vy more in age than the people on coach B.

(©) 1s Richard correct?
You must give reason fo your answer.

(Total for Question
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Ther re 8 poits cqully spced o e circumfrnce of e cicle.
(8 Fid thedistancs Hasmet walks bewseane point s the next pont.

Four ofthe poits e moved, a5 shown i the diagram belov.
a4

wo

Hasonetwalks once round the vl again.

(8 Hs the s et Hases walks bt one it a the et ot changed?
You st iv  esson for youramswce.

(Total for Queston 318 3 marks)
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11 The cumlativ frequency sraph shows informaron sbout the weights of 60 pottoes.

i
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I )

Weight ()
(8 Use the raph o i a et o the modi weight

W

Jamilsays,
80 - 40= 4050 the rangs of the wights s 40"

) 1 Jamil comect?
Vou mst give  rsson for your s,

o




